U AR B ZAb

I-I}\ F AXRI
1o T=2

o

= 2Asio 9

=

¥ ol Cheh H71- 2 =AL

AR

HH
AL

ol 714

o
e

EIN el

1.

Q ZRAPIZF: 20219 59 ~ 9¥(7)

i

19]

7S

A

‘7H

WA 22y

ER1 77H sl

o,

ju

O ZAMA :

H| 1

]

5|

A
X

i

Ca

i

@A ez 27w

L9 4

A

2021. 7. 1. ~ 8. 10.

2021. 6. 1. ~ 8. 10.

F7IRE

7

COD, SS, T-P, NH4'-N)
Hg), 67} 2=(Cr™)

(Pb), +2

LH
=}

: 7FEE{Cd), H]A(As),

A wel




of

o

67132(Cr*)
5 o]

==

=
T

of

9

EJoll thet

+2(Hg)
4 o]

=

wAp Sy

],
2(COD, SS, T-P, NHy"-N)

HHARE 2al(mg/kg)

'2(Pb)
200 o]

=
o

371
3

(o3

],

S| Bl ALgE e

WAL
A
H| £(As)
o)
.

25 0]

Fa
A

)

F
A

12(oflo]

f

=B

\=]
[SILN
=

=2
=

],

[9

7IE&{(Cd)
4 o]

fo0ig 2
o] 77t 271 N

[9)

of

o

oz

E
o

[

o
500 o]

u}
£=21(MPN/100mL)

of

9

g

100 o]

7
- wiApggo] Zo} Lkm 0jgt :

e]

-
[e]

1

HARAATAE A31H / 20224
7S
=

O Al EA
7z

—
2

'BJ

,_OH_

A
S

L

710

F A& 67 & 471 oAt Algrt 24

g ollA] Azt

5]

0T

5t

,_OH_

7150] 25 A

AR 107] 5 67] o4 A7} 4%

st

ofAT AHF

- wiApgo] Zdolr} Tkm ol

10
10

11

10
91
41
10
10
657
20

11199
452
5794
275
63
187

Oz (MPN/100mL)
15531

0
10
0
0

31

162
157
116
43
32
808

5t (MPN/100mL)
237

fe27dd W71k, ol

5

L5

5%

R
ENESS

5|

H 1. 2021

H|1



- BlE WReETE WD)
A iHEnterococcus) 0 ~ 808 MPN/100mL, thAHE. Coli) O ~ 15,531 MPN/100mL
ol Z|hzke LR

Olt N

NrE

_—
S

—|u:

S
B

|
. 5}

2AT} MRS B
7] o] vl Ee

2T A

5 69l(Hdi 23], Fote] 19),

Lal87ol 71 UL

1 O
I w

drges

ERXL

O 0]

EI\_—I'I"H

2y 33))
FU3TE 5. g 101

o] ¥Rloz mHd

B2 20214 S48% £, HYD) 24 AL
o ZZHMPN/100m0) C#HMPN/100mL)
IS ETPST, T B ETPST, T s
1 0 135 0 0 11199 1
T 2 0 92 5 0 9208 20
3 0 162 0 0 8164 10
1 0 10 0 20 292 42
& T 2 0 32 10 10 309 94
3 0 157 13 30 452 132
1 0 54 5 0 3255 41
2 0 55 5 0 5794 20
et 3 0 116 5 0 3448 52
4 5 32 5 0 3076 63
5 0 47 10 0 1334 31
1 0 32 5 0 275 20
2 0 43 5 0 241 15
Sf-2CH 3 0 26 0 0 97 10
4 0 26 3 0 120 5
5 0 21 3 0 97 0
1 0 32 0 0 52 0
2 0 10 0 0 41 5
& A 3 0 10 3 0 63 0
4 0 5 0 0 31 10
5 0 16 3 0 41 10
1 5 677 21 0 15531 256
g 2 10 315 36 41 4611 1296
3 0 808 5 41 8664 657
1 0 202 5 0 98 10
A = 2 0 117 5 0 187 20
3 0 237 0 0 148 41
v ¢ $P37]1&-75H100 MPN/100mL o]a}), ti&taH500 MPN/100mL ©o]&})
B 32 30702019-20214) S48% 43 BAY Y JREL AR Y
EYVEE sy 34 A 487 292699, m
2021 6 CIHE(2), Rt=i(1), LE(3) 14173
2020 4 CHOHE(T), SHETHE), L) 18438
2019 3 CHHZE(2), S=(1) 1,194.6




[ |
4 273

FAHTHE 313 / 20224

o [=] o = HA
= s COD SS T-P NH,-N
A F [= N
H+=% (BS0) (mg/L) (mg/L) (mg/L) (mg/L)
Chf 24.15 3.0 7.0 0.031 0.057
& o 31.73 1.5 3.7 0.025 0.095
aorg] 29.68 1.6 2.7 0.052 0.435
sf-20 33.15 0.7 2.8 0.010 0.027
& A 32.91 0.4 3.4 0.017 0.022
a4 & 30.54 0.9 8.6 0.017 0.046
d = 30.01 1.6 5.7 0.025 0.024
Bl R W AL W F W S 5 5 38 RAl] WAl 28)
40,00 HE (psu)
30.00
20.00
10.00 I I
000
CHO= zrore| M2 == zz oz
40 CODimg/L)
30
- I I I
10
|I| Il el . ol1 His
CHf= etz W20 =3 2 2=
250 SS{ma/L)
200
150
50
0o I I l I I [ ] l [ | I I .
o= Zora| ;e &3 2 g
0100 T-Pimg/L)
0080
0.060
0020
- l I 1 A1 <A1 01 i}
CHO= zrore| M2 == zz oz
0500 NH4*-Nimag/L)
0400
0300
0200
0100
CHoj= Zrore| 20 == oz =

ag 2. 2Z 34

m20219 m20204 m20194

(2019~20211)7F 2T 3H2 ZAFATHEFZ) Bl



- 7=1§_
* 2021'd FARS 77} S8 22 oldE RARE, AT 69)(Hi2 28], gete] 19], & 39))=

)
E
o
>.
)
i
a
uz
w2
R
)
o 0%
ol :|HJ
ol
[l
E‘i
uy
i)
é

el I U si87go] eARst

= oL FFERE A EEoIN =%

* S 2 GOl RI=Tt —‘,L;—O}Kl—i IS EeAE %‘Q%ﬂ% Hall skt B B Y], &
A

WAy e

20219 S48 WANY 2o RAMZL

422 Cd(mg/kg) As(mg/kg) Hg(mg/kg) Pb(mg/kg) Cr*(mg/kg)
Chf 0.18 4.94 el 11.3 245
L = e 3.05 245 5.6 245
et e 3.68 et 8.2 245
sh-20 0.23 3.93 245 5.0 245
&= A 0.37 6.17 245 7.3 el
d F 245 6.22 245 7.8 245
ol = 0.12 6.60 e 8.5 245
71 & 4 oJs} 25 olst 4 oJs} 200 olst 5 o5}

050 Cd(mg/kg)
040
030
020 I I I
010
| .| 1 I il 1l =i
= etz =3 e oz
10,00 As(mg/kg)
300
600
I|I il I
CHp= otz 20 &3 2 oz
200 Pb(mg/kg)
15.0
- I I I I
50
ol || 1! il Eui T
Crofp = Zrotg)| = 2ok e

m202149 m20204 m20194

I3 3. 2 3F(2019~20201 )7 BHARRS 2 ZAFEIHE F4))



SULEE A3 / 202214

ol

EEEEEE

0,

b2 s T SR BT S 1R ol

O slie-87d ROl Alsstd E7g7ide Het &A1 ok 3 =gl 719

O BAAS S8 o] 8ASOA ZAREE A

AN
=

s B7Kstol et 3)

pS|
S

5t

2

485 7|

o
find



